
 

 

Hoja 4.3                                    Matemáticas 3º ESO                                      © FerMates 
Sistemas de ecuaciones 
 1.- Resuelve los siguientes sistemas: 
 

a)   




=−
=+

22

112

yx

yx
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
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1032

yx

yx
 

 

d)   



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=+
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  e)   




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−=−
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452

yx

yx
  f)   




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=−
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yx
 

 

g)   




=−
=+

925

2143
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yx
  h)   





=+
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yx
  i)   



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=−
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j)   



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  k)   
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
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


=+
=−
1043

132

yx

yx
 

  
2.- Resuelve los siguientes sistemas: 
 

a)   



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  b)   




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  c)   



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d)   



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yx
  e)   



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

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g)   




=+
=+
4

83

yx
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

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  i)   



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j)   


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
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3.- Resuelve los siguientes sistemas: 
 

a)   

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
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
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  e)   



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yx
  f)   




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=−
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yx
 

 

g)   



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yx
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


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=+

33

23
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  i)   




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+=
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j)   



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  k)   




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4
  l)   




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